Bulletin of the *Transilvania* University of Braşov Series III: Mathematics and Computer Science, Vol. 1(63), No. 2 - 2021, 1-14 https://doi.org/10.31926/but.mif.2021.1.63.2.1

APPROXIMATION BY SZÁSZ-MIRAKJAN-BASKAKOV OPERATORS BASED ON SHAPE PARAMETER λ

Reşat ASLAN¹

Abstract

In this paper, we aim to obtain several approximation properties of Szász-Mirakjan-Baskakov operators with shape parameter $\lambda \in [-1, 1]$. We reach some preliminary results such as moments and central moments. Next, we estimate the order of convergence with respect to the usual modulus of continuity, for the functions belong to Lipschitz-type class and Peetre's K-functional, respectively. Also, we prove a result concerning the weighted approximation for these operators. Finally, we give the comparison of the convergence of these newly defined operators to certain functions with some graphics.

2000 Mathematics Subject Classification: 41A10, 41A25, 41A36. Key words: Order of convergence, Modulus of continuity, Lipschitz-type functions, Szász-Mirakjan-Baskakov operators, Weighted approximation.

1 Introduction

Szász [31] and Mirakjan [19] proposed the following linear positive operators, which are related to the Poisson distribution, as

$$S_m(\mu; y) = \sum_{j=0}^{\infty} s_{m,j}(y) \mu\left(\frac{j}{m}\right),\tag{1}$$

where $y \ge 0$, $m \in \mathbb{N}$, $\mu \in C[0, \infty)$ and Szász-Mirakjan basis functions $s_{m,j}(y)$ are defined as below:

$$s_{m,j}(y) = e^{-my} \frac{(my)^j}{j!}.$$
 (2)

In 1983, Prasad et al. [26] considered Baskakov type integral modifications of (1) operators as follows:

$$K_m(\mu; y) = (m-1) \sum_{j=0}^{\infty} s_{m,j}(y) \int_0^{\infty} q_{m,j}(t) \mu(t) dt, \ y \in [0, \infty),$$
(3)

¹Labor and Employment Agency, Sanliurfa 63040, Turkey, e-mail: resat63@hotmail.com

where $s_{m,j}(y)$ given in (2) and $q_{m,j}(t) = \binom{m+j-1}{j} \frac{t^j}{(1+t)^{m+j}}$.

Later, some various approximation properties of (1) and (3) operators have been presented by several authors. We refer the readers to some recent papers on these directions [2, 16, 15, 1, 14, 13, 5, 32, 12, 33].

A short while ago, using the shape parameter $\lambda \in [-1, 1]$, which plays an important role in computer graphics and computer-aided geometric design, become a new research field in the theory of approximation. In 2019, Qi et al. [27] introduced a new generalization of λ -Szász-Mirakjan polynomials with shape parameter $\lambda \in [-1, 1]$ as below:

$$S_{m,\lambda}(\mu;y) = \sum_{j=0}^{\infty} \widetilde{s}_{m,j}(\lambda;y) \mu\left(\frac{j}{m}\right),\tag{4}$$

where Szász-Mirakjan bases functions $\tilde{s}_{m,j}(\lambda; y)$ with shape parameter $\lambda \in [-1, 1]$:

$$\widetilde{s}_{m,0}(\lambda; y) = s_{m,0}(y) - \frac{\lambda}{m+1} s_{m+1,1}(y);$$

$$\widetilde{s}_{m,i}(\lambda; y) = s_{m,i}(y) + \lambda \left(\frac{m-2i+1}{m^2-1} s_{m+1,i}(y) - \frac{m-2i-1}{m^2-1} s_{m+1,i+1}(y) \right)$$

$$(i = 1, 2, ..., \infty, \ y \in [0, \infty)).$$
(5)

They obtained several theorems such as Korovkin type approximation, local approximation, Lipschitz type convergence, Voronovskaja and Grüss-Voronovskaja type for the operators (4). We can mention some recent works based on shape parameter $\lambda \in [-1, 1]$, see: [8, 9, 6, 7, 29, 30, 20, 21, 3, 28, 18, 22, 23, 24, 25].

Motivated by all of the above mentioned papers, we define λ -Szász-Mirakjan-Baskakov polynomials as follows:

$$R_{m,\lambda}(\mu;y) = (m-1)\sum_{j=0}^{\infty} \widetilde{s}_{m,j}(\lambda;y) \int_{0}^{\infty} q_{m,j}(t)\mu(t) dt, \quad y \in [0,\infty),$$
(6)

where $q_{m,j}(t)$ given in (3), $\tilde{s}_{m,j}(\lambda; y)$ $(j = 0, 1, ..\infty)$ in (5) and $\lambda \in [-1, 1]$.

The structure of this work is organized as follows: In Sect. 2, we calculate some moments and central moments. In Sect. 3, we establish the order of convergence with respect to the usual modulus of continuity, for the functions belonging to Lipschitz class and Peetre's K-functional, respectively. In Sect. 4, we give a result concerning the weighted approximation. In the final Section, we show the comparison of the convergence of operators (6) to the certain functions for the different values of m and λ . We also compare the convergence of operators (3) and (6) to the certain function to see the role of λ parameter.

2 Preliminaries

Lemma 1. [27]. For the λ -Szász-Mirakjan operators $S_{m,\lambda}(\mu; y)$, the following results are satisfied:

$$\begin{split} S_{m,\lambda}(1;y) &= 1, \\ S_{m,\lambda}(t;y) &= y + \left[\frac{1 - e^{-(m+1)y} - 2y}{m(m-1)}\right]\lambda, \\ S_{m,\lambda}(t^2;y) &= y^2 + \frac{y}{m} + \left[\frac{2y + e^{-(m+1)y} - 1 - 4(m+1)y^2}{m^2(m-1)}\right]\lambda, \\ S_{m,\lambda}(t^3;y) &= y^3 + \frac{3y^2}{m} + \frac{y}{m^2} \\ &+ \left[\frac{1 - e^{-(m+1)y} - 2y + 3(m-3)(m+1)y^2 - 6(m+1)y^3}{m^3(m-1)}\right]\lambda, \\ S_{m,\lambda}(t^4;y) &= y^4 + \frac{6y^3}{m} + \frac{7y^2}{m^2} + \frac{y}{m^3} + \left[\frac{e^{-(m+1)y} - 1 + 2my + 2(3m-11)(m+1)y^2}{m^4(m-1)} + \frac{4(m-8)(m+1)^2y^3 - 8(m+1)^3y^4}{m^4(m-1)}\right]\lambda. \end{split}$$

Lemma 2. Let the operators $R_{m,\lambda}$ be defined by (6). Then, we obtain

$$R_{m,\lambda}(1;y) = 1, (7)$$

$$R_{m,\lambda}(t;y) = \frac{my+1}{m-2} + \left[\frac{1-e^{-(m+1)y}-2y}{(m-1)(m-2)}\right]\lambda,$$
(8)

$$R_{m,\lambda}(t^2;y) = \frac{m^2y^2 + 4my + 2}{(m-2)(m-3)} + \left[\frac{1 - e^{-(m+1)y} - 2y - 2(m+1)y^2}{(m-1)(m-2)(m-3)}\right] 2\lambda, \quad (9)$$

$$R_{m,\lambda}(t^{3};y) = \frac{m^{3}y^{3} + 9m^{2}y^{2} + 18my + 6}{(m-2)(m-3)(m-4)} + \left[\frac{2 - 2e^{-(m+1)y} - 4y + (m-11)(m+1)y^{2} - 2(m+1)y^{3}}{(m-1)(m-2)(m-3)(m-4)}\right] 3\lambda,$$
(10)

$$R_{m,\lambda}(t^4; y) = \frac{m^4 y^4 + 16m^3 y^3 + 72m^2 y^2 + 96my + 24}{(m-2)(m-3)(m-4)(m-5)} \\ + \left[\frac{12 - 12e^{-(m+1)y} + 2y(m-25) + 18(m-7)(m+1)y^2}{(m-1)(m-2)(m-3)(m-4)(m-5)} - \frac{2(m^2 - 7m - 23)(m+1)y^3 + 4(m+1)^3 y^4}{(m-1)(m-2)(m-3)(m-4)(m-5)}\right] 2\lambda.$$
(11)

Proof. By the definition of (6) and $\tilde{s}_{m,i}(\lambda; y)$ (5), it is easy to see $\sum_{j=0}^{\infty} \tilde{s}_{m,j}(\lambda; y) = 1$,

hence we get (7).

Now, with the help of Lemma 1 and definition of beta function, we will compute expressions (8) and (9).

$$\begin{aligned} R_{m,\lambda}(t;y) &= (m-1) \sum_{j=0}^{\infty} \widetilde{s}_{m,j}(\lambda;y) \int_{0}^{\infty} \binom{m+j-1}{j} \frac{t^{j+1}}{(1+t)^{m+j}} dt \\ &= (m-1) \sum_{j=0}^{\infty} \widetilde{s}_{m,j}(\lambda;y) \binom{m+j-1}{j} \frac{\Gamma(j+2)\Gamma(m-2)}{\Gamma(m+j)} \\ &= (m-1) \sum_{j=0}^{\infty} \widetilde{s}_{m,j}(\lambda;y) \frac{(m+j-1)!}{j!(m-1)!} \frac{(j+1)!(m-3)!}{(m+j-1)!} \\ &= \sum_{j=0}^{\infty} \widetilde{s}_{m,j}(\lambda;y) \left(\frac{j+1}{m-2}\right) \\ &= \frac{m}{m-2} S_{m,\lambda}(t;y) + \frac{1}{m-2} S_{m,\lambda}(1;y) \\ &= \frac{my+1}{m-2} + \left[\frac{1-e^{-(m+1)y}-2y}{(m-1)(m-2)}\right] \lambda. \end{aligned}$$

$$\begin{split} R_{m,\lambda}(t^2;y) &= (m-1)\sum_{j=0}^{\infty} \widetilde{s}_{m,j}(\lambda;y) \int_{0}^{\infty} \binom{m+j-1}{j} \frac{t^{j+2}}{(1+t)^{m+j}} dt \\ &= (m-1)\sum_{j=0}^{\infty} \widetilde{s}_{m,j}(\lambda;y) \binom{m+j-1}{j} \frac{\Gamma(j+3)\Gamma(m-3)}{\Gamma(m+j)} \\ &= (m-1)\sum_{j=0}^{\infty} \widetilde{s}_{m,j}(\lambda;y) \frac{(m+j-1)!}{j!(m-1)!} \frac{(j+2)!(m-4)!}{(m+j-1)!} \\ &= \sum_{j=0}^{\infty} \widetilde{s}_{m,j}(\lambda;y) \frac{j^2+3j+2}{(m-2)(m-3)} \\ &= \frac{m^2}{(m-2)(m-3)} S_{m,\lambda}(t^2;y) + \frac{3m}{(m-2)(m-3)} S_{m,\lambda}(t;y) \\ &+ \frac{2}{(m-2)(m-3)} S_{m,\lambda}(1;y) \\ &= \frac{m^2y^2+4my+2}{(m-2)(m-3)} + \left[\frac{1-e^{-(m+1)y}-2y-2(m+1)y^2}{(m-1)(m-2)(m-3)} \right] 2\lambda. \end{split}$$

Similarly, from Lemma 1, we can get expressions (10) and (11) by simple computation, thus we have omitted details. $\hfill \Box$

Corollary 1. Let $y \in [0, \infty)$, m > 5 and $\lambda \in [-1, 1]$. As a consequence of Lemma 2, we obtain the following relations:

(i)
$$R_{m,\lambda}(t-y;y) = \frac{2y+1}{m-2} + \left[\frac{1-e^{-(m+1)y}-2y}{(m-1)(m-2)}\right]\lambda := \alpha_{m,\lambda}(y)$$

$$(ii) R_{m,\lambda}((t-y)^2; y) = \frac{(m+6)y^2 + 2(m+3)y + 2}{(m-2)(m-3)} \\ + \left[\frac{1 + [(m-3)y - 1]e^{-(m+1)y} + y - 8y^2}{(m-1)(m-2)(m-3)}\right] 2\lambda \\ \leq \frac{(m+6)y^2 + 2(m+3)y + 2}{(m-2)(m-3)} \\ + \frac{2\left(1 + [(m-3)y - 1]e^{-(m+1)y} + y + 8y^2\right)}{(m-1)(m-2)(m-3)} := \beta_m(y)$$

$$(iii) R_{m,\lambda}((t-y)^4; y) = \frac{(3m^2 + 286m + 120) y^4 + 4 (3m^2 + 73m + 60) y^3}{(m-2)(m-3)(m-4)(m-5)} + \frac{12 (m^2 + 21m + 20) y^2 + 24(3m + 5)y + 24}{(m-2)(m-3)(m-4)(m-5)} + \left(\frac{12 - 12e^{-(m+1)y} + 2y(m-25) + 18(m-7)(m+1)y^2}{(m-1)(m-2)(m-3)(m-4)(m-5)} \right) - \frac{-2(m^2 - 7m - 23)(m+1)y^3 - 4(m+1)^3y^4}{(m-1)(m-2)(m-3)(m-4)(m-5)} + \frac{6y (2e^{-(m+1)y} - 2+4y - (m-11)(m+1)y^2 + 2(m+1)y^3)}{(m-1)(m-2)(m-3)(m-4)} + \frac{12y^2 (1 - e^{-(m+1)y} - 2y^3 + 2(m+1)y^2)}{(m-1)(m-2)(m-3)} - \frac{4y^3(1 - e^{-(m+1)y} - 2y)}{(m-1)(m-2)} \right) 2\lambda.$$

3 Direct theorems of $R_{m,\lambda}$ operators

In this section, we establish the order of convergence in connection with the usual modulus of continuity, for the function belonging to Lipschitz type continuous and Peetre's K-functional. Let the space $C_B[0,\infty)$ denotes all continuous and bounded functions on $[0,\infty)$ and be equipped with the sup-norm for a function μ as follows:

$$\|\mu\|_{[0,\infty)} = \sup_{y \in [0,\infty)} |\mu(y)|$$

Further, the Peetre's K-functional is defined by

$$K_{2}(\mu,\eta) = \inf_{\nu \in C^{2}[0,\infty)} \left\{ \|\mu - \nu\| + \eta \|\nu''\| \right\},\$$

where $\eta > 0$ and $C_B^2[0, \infty) = \{ \nu \in C_B[0, \infty) : \nu', \nu'' \in C_B[0, \infty) \}.$

Taking into account [10], there exists an absolute constant C > 0 such that

$$K_2(\mu;\eta) \le C\omega_2(\mu;\sqrt{\eta}), \qquad \eta > 0, \tag{12}$$

where

$$\omega_2(\mu;\eta) = \sup_{0 < z \le \eta} \sup_{y \in [0,\infty)} |\mu(y+2z) - 2\mu(y+z) + \mu(y)|,$$

is the second order modulus of smoothness of the function $\mu \in C_B[0,\infty)$. Also, by

$$\omega(\mu;\eta) := \sup_{0 < \alpha \le \eta} \sup_{y \in [0,\infty)} \left| \mu(y+z) - \mu(y) \right|,$$

we denote the usual modulus of continuity of $\mu \in C_B[0,\infty)$. Since $\eta > 0$, $\omega(\mu;\eta)$ has some useful properties see details: [4].

Moreover, we give an element of Lipschitz continuous function with $Lip_L(\zeta)$, where L > 0 and $0 < \zeta \leq 1$. If the expression below:

$$|\mu(t) - \mu(y)| \le L |t - y|^{\zeta}, \qquad (t, y \in \mathbb{R}),$$
(13)

holds, then one can say that the function μ belongs to $Lip_L(\zeta)$.

Theorem 1. Let $\mu \in C_B[0,\infty)$, $y \in [0,\infty)$ and $\lambda \in [-1,1]$. Then, the following inequality verifies

$$|R_{m,\lambda}(\mu;y) - \mu(y)| \le 2\omega(\mu;\sqrt{\beta_m(y)}),$$

where $\beta_m(y)$ given in Corollary 1.

Proof. Taking into account the well-known property of modulus of continuity $|\mu(t) - \mu(y)| \leq \left(1 + \frac{|t-y|}{\delta}\right) \omega(\mu; \delta)$ and operating $R_{m,\lambda}(.; y)$, it gives

$$|R_{m,\lambda}(\mu;y) - \mu(y)| \le \left(1 + \frac{1}{\delta}R_{m,\lambda}(|t-y|;y)\right)\omega(\mu;\delta)$$

Utilizing the Cauchy-Bunyakovsky-Schwarz inequality and by Corollary 1, we obtain

$$\begin{aligned} |R_{m,\lambda}(\mu;y) - \mu(y)| &\leq \left(1 + \frac{1}{\delta}\sqrt{R_{m,\lambda}((t-y)^2;y)}\right)\omega(\mu;\delta) \\ &\leq \left(1 + \frac{1}{\delta}\sqrt{\beta_m(y)}\right)\omega(\mu;\delta). \end{aligned}$$

Taking $\delta = \sqrt{\beta_m(y)}$, hence we get the proof of this theorem.

6

Theorem 2. Let $\mu \in Lip_L(\zeta)$, $y \in [0, \infty)$ and $\lambda \in [-1, 1]$. Then, we obtain

$$|R_{m,\lambda}(\mu;y) - \mu(y)| \le L(\beta_m(y))^{\frac{1}{2}}.$$

Proof. From (13) and using the Hölder's inequality, it follows

$$|R_{m,\lambda}(\mu;y) - \mu(y)| \le R_{m,\lambda}(|\mu(t) - \mu(y)|;y) \le LR_{m,\lambda}(|t-y|^{\zeta};y).$$

Therefore,

$$\begin{split} R_{m,\lambda}(\mu;y) - \mu(y)| &\leq L(m-1) \sum_{j=0}^{\infty} \widetilde{s}_{m,j}(\lambda;y) \int_{0}^{\infty} \binom{m+j-1}{j} \frac{t^{j}}{(1+t)^{m+j}} |t-y|^{\zeta} dt \\ &\leq L(m-1) \sum_{j=0}^{\infty} (\widetilde{s}_{m,j}(\lambda;y))^{\frac{2-\zeta}{2}} \\ &\times (\widetilde{s}_{m,j}(\lambda;y))^{\frac{\zeta}{2}} \int_{0}^{\infty} \binom{m+j-1}{j} \frac{t^{j}}{(1+t)^{m+j}} |t-y|^{\zeta} dt \\ &\leq L \left((m-1) \sum_{j=0}^{\infty} \widetilde{s}_{m,j}(\lambda;y) \int_{0}^{\infty} \binom{m+j-1}{j} \frac{t^{j}}{(1+t)^{m+j}} dt \right)^{\frac{2-\zeta}{2}} \\ &\times \left((m-1) \sum_{j=0}^{\infty} \widetilde{s}_{m,j}(\lambda;y) \int_{0}^{\infty} \binom{m+j-1}{j} \frac{t^{j}}{(1+t)^{m+j}} |t-y|^{2} dt \right)^{\frac{\zeta}{2}} \\ &= L \left\{ R_{m,\lambda}((t-y)^{2};y) \right\}^{\frac{\zeta}{2}} \\ &\leq L(\beta_{m}(y))^{\frac{\zeta}{2}}. \end{split}$$

Thus, we get the proof of this theorem.

Theorem 3. For all $\mu \in C_B[0,\infty)$, $y \in [0,\infty)$ and $\lambda \in [-1,1]$, the following inequality holds:

$$|R_{m,\lambda}(\mu;y) - \mu(y)| \le C\omega_2(\mu; \frac{1}{2}\sqrt{\beta_m(y) + (\alpha_{m,\lambda}(y))^2} + \omega(\mu; |\alpha_{m,\lambda}(y)|),$$

where C > 0 is a constant, $\alpha_{m,\lambda}(y)$ and $\beta_m(y)$ are same as in Corollary 1.

Proof. We denote $\gamma_{m,\lambda}(y) := \frac{my+1}{m-2} + \left[\frac{1-2y-e^{-(m+1)y}}{(m-1)(m-2)}\right] \lambda$, it is obvious that $\gamma_{m,\lambda}(y) \in [0,\infty)$ for sufficiently large m. We define the following auxiliary operators:

$$\widehat{R}_{m,\lambda}(\mu; y) = R_{m,\lambda}(\mu; y) - \mu(\gamma_{m,\lambda}(y)) + \mu(y).$$
(14)

In view of (7) and (8), we find

$$\widehat{R}_{m,\lambda}(t-y;y) = 0.$$

Using Taylor's formula, one has

$$\xi(t) = \xi(y) + (t - y)\xi'(y) + \int_{y}^{t} (t - u)\xi''(u)du, \quad (\xi \in C_B^2[0, \infty)).$$
(15)

After operating $\widehat{R}_{m,\lambda}(.;y)$ to (15), yields

$$\begin{split} \widehat{R}_{m,\lambda}(\xi;y) - \xi(y) &= \widehat{R}_{m,\lambda}((t-y)\xi'(y);y) + \widehat{R}_{m,\lambda}(\int_{y}^{t}(t-u)\xi''(u)du;y) \\ &= \xi'(y)\widehat{R}_{m,\lambda}(t-y;y) + R_{m,\lambda}(\int_{y}^{t}(t-u)\xi''(u)du;y) \\ &- \int_{y}^{\gamma_{m,\lambda}(y)}(\gamma_{m,\lambda}(y) - u)\xi''(u)du \\ &= R_{m,\lambda}(\int_{y}^{t}(t-u)\xi''(u)du;y) - \int_{y}^{\gamma_{m,\lambda}(y)}(\gamma_{m,\lambda}(y) - u)\xi''(u)du. \end{split}$$

Taking Lemma 2 and (14) into the account, we get

$$\begin{aligned} \left| \widehat{R}_{m,\lambda}(\xi;y) - \xi(y) \right| &\leq \left| R_{m,\lambda}(\int_{y}^{t} (t-u)\xi''(u)du;y) \right| + \left| \int_{y}^{\gamma_{m,\lambda}(y)} (\gamma_{m,\lambda}(y) - u)\xi''(u)du \right| \\ &\leq R_{m,\lambda} \left(\int_{y}^{t} (t-u) \left| \xi''(u) \right| du;y \right) \\ &+ \left(\int_{y}^{\gamma_{m,\lambda}(y)} |\gamma_{m,\lambda}(y) - u| \left| \xi''(u) \right| du \right) \\ &\leq \left\| \xi'' \right\| \left\{ R_{m,\lambda}((t-y)^{2};y) + (\gamma_{m,\lambda}(y) - y)^{2} \right\} \\ &\leq \left\{ \beta_{m}(y) + (\alpha_{m,\lambda}(y))^{2} \right\} \left\| \xi'' \right\|. \end{aligned}$$

From (7), (8) and (14), it deduce the following

$$\left|\widehat{R}_{m,\lambda}(\mu;y)\right| \le |R_{m,\lambda}(\mu;y)| + 2 \|\mu\| \le \|\mu\| R_{m,\lambda}(1;y) + 2 \|\mu\| \le 3 \|\mu\|.$$
(16)

Also, by (15) and (16) we get

$$\begin{aligned} |R_{m,\lambda}(\mu; y) - \mu(y)| &\leq \left| \widehat{R}_{m,\lambda}(\mu - \xi; y) - (\mu - \xi)(y) \right| \\ &+ \left| \widehat{R}_{m,\lambda}(\xi; y) - \xi(y) \right| + |\mu(y) - \mu(\alpha_{m,\lambda}(y))| \\ &\leq 4 \|\mu - \xi\| + \left\{ \beta_m(y) + (\gamma_{m,\lambda}(y))^2 \right\} \|\xi''\| + \omega(\mu; |\alpha_{m,\lambda}(y)|). \end{aligned}$$

On account of this, if we take the infimum on the right hand side over all $\xi \in C_B^2[0,\infty)$ and by (12), we arrive

$$|R_{m,\lambda}(\mu;y) - \mu(y)| \le 4K_2(\mu; \frac{\left\{\beta_m(y) + (\alpha_{m,\lambda}(y))^2\right\}}{4}) + \omega(\mu; |\alpha_{m,\lambda}(y)|)$$
$$\le C\omega_2(\mu; \frac{1}{2}\sqrt{\beta_m(y) + (\alpha_{m,\lambda}(y))^2}) + \omega(\mu; |\alpha_{m,\lambda}(y)|).$$

Hence, we obtain the proof of this theorem.

4 Weighted approximation

In this section, we prove a result concerning the weighted approximation for the sequence of operators $(R_{m,\lambda})_n$. Let $B_{y^2}[0,\infty)$ be the set of all functions h verifying the condition $|h(y)| \leq M_h(1+y^2), y \in [0,\infty)$ with constant M_h , which depend only on h. We denote by $C_{y^2}[0,\infty)$ the set of all continuous functions belonging to $B_{y^2}[0,\infty)$ endowed with the norm $||h||_{y^2} = \sup_{y \in [0,\infty)} \frac{|h(y)|}{1+y^2}$ and $C_{y^2}^*[0,\infty) := \{h: h \in C_{y^2}[0,\infty), \lim_{y \to \infty} \frac{|h(y)|}{1+y^2} < \infty\}.$

Theorem 4. For all $\mu \in C^*_{y^2}[0,\infty)$, we obtain

$$\lim_{m \to \infty} \sup_{y \in [0,\infty)} \frac{|R_{m,\lambda}(\mu; y) - \mu(y)|}{1 + y^2} = 0.$$

Proof. Taking into account the Korovkin type theorem given by Gadzhiev [11], we have to show that (3) operators satisfy the following condition:

$$\lim_{m \to \infty} \sup_{y \in [0,\infty)} \frac{|R_{m,\lambda}(t^s; y) - y^s|}{1 + y^2} = 0, \qquad s = 0, 1, 2.$$
(17)

Using (7), the first condition in (17) is clear for s = 0.

For s = 1, by (8), we find

$$\begin{split} \sup_{y \in [0,\infty)} \frac{|R_{m,\lambda}(t;y) - y|}{1 + y^2} &\leq \left| \frac{m - 1 + \lambda}{(m - 1)(m - 2)} \right| \sup_{y \in [0,\infty)} \frac{1}{1 + y^2} \\ &+ \left| \frac{2(m - 1) - 3\lambda}{(m - 1)(m - 2)} \right| \sup_{y \in [0,\infty)} \frac{y}{1 + y^2}, \end{split}$$

which implies that

$$\lim_{m \to \infty} \sup_{y \in [0,\infty)} \frac{|R_{m,\lambda}(t;y) - y|}{1 + y^2} = 0.$$

Likewise for s = 2, from (9), it becomes

$$\begin{split} \sup_{y \in [0,\infty)} \frac{\left| R_{m,\lambda}(t^2; y) - y^2 \right|}{1 + y^2} &\leq \left| \frac{2(m - 1 + \lambda)}{(m - 1)(m - 2)(m - 3)} \right| \sup_{y \in [0,\infty)} \frac{1}{1 + y^2} \\ &+ \left| \frac{2(2m(m - 1) - 3\lambda)}{(m - 1)(m - 2)(m - 3)} \right| \sup_{y \in [0,\infty)} \frac{y}{1 + y^2} \\ &+ \left| \frac{(5m - 6)(m - 1) - 4(m + 1)\lambda}{(m - 1)(m - 2)(m - 3)} \right| \sup_{y \in [0,\infty)} \frac{y^2}{1 + y^2}. \end{split}$$

Hence, we get

$$\lim_{m \to \infty} \sup_{y \in [0,\infty)} \frac{\left| R_{m,\lambda}(t^2; y) - y^2 \right|}{1 + y^2} = 0.$$

This completes the proof.

5 Graphical analysis

In this section, we show several graphics to see the convergence of operators (6) to certain functions with different values of m and λ . Also, we compare the convergence operators (6) and (3) for a certain function to see the role of λ parameter.

In Figure 1, we choose the function $\mu(y) = (y-2/3)(y-3/4)$ (black), $\lambda = 0.9$, m = 10 (red), m = 20 (green) and m = 50 (blue). In Figure 2, we choose the function $\mu(y) = y^2$ (black), $\lambda = 0.4$, m = 10 (red), m = 20 (green) and m = 50(blue). It is clear from Figure 1 and Figure 2 that, for the different values of λ , as the values of m increases than the convergence of operators (6) to the functions $\mu(y)$ becomes better. In Figure 3, we choose the function $\mu(y) = y^2$ (black), $\lambda = 1$ and m = 15. We compare the convergence of operators (3) (green) and (6) (red) to the function $\mu(y)$. As a result of this comparison, if we increase the value of m, we get better approximation for the operators (6) than operators (3).



Figure 1: The convergence of operators $R_{m,\lambda}(\mu; y)$ to $\mu(y) = (y - 2/3)(y - 3/4)$ for $\lambda = 0.9$ and m = 10, 20, 50



Figure 2: The convergence of operators $R_{m,\lambda}(\mu; y)$ to $\mu(y) = y^2$ for $\lambda = 0.4$ and m = 10, 20, 50



Figure 3: The convergence of operators $R_{m,\lambda}(\mu; y)$ and $K_m(\mu; y)$ to $\mu(y) = y^2$ for $\lambda = 1$ and m = 15

References

- Acar, T., Asymptotic formulas for generalized Szász-Mirakyan operators, Appl. Math. Comput. 263 (2015), 233-239.
- [2] Acar, T., Gupta, V. and Aral, A., Rate of convergence for generalized Szász operators, Bull. Math. Sci. 1 (2011), 99-113.
- [3] Acu, A.M., Manav, N. and Sofonea, D.F., Approximation properties of λ -Kantorovich operators, J. Inequal. Appl. **2018** (2018), 202.
- [4] Altomare, F. and Campiti, M., *Korovkin-type approximation theory and its applications*, volume 17, Walter de Gruyter, 2011.

- [5] Aral, A., Ulusoy, G. and Deniz, E., A new construction of szász-mirakyan operators, Numer. Algorithms. 77 (2017), no. 2, 313-326.
- [6] Aslan, R., Some approximation results on λ-Szasz-Mirakjan-Kantorovich operators, FUJMA, 4 (2021), 150-158.
- [7] Cai, Q.B. Aslan, R., On a new construction of generalized q-Bernstein polynomials based on shape parameter λ , Symmetry, **13** (2021), no. 10, 1919.
- [8] Cai, Q.B., Lian, B.Y. and Zhou, G., Approximation properties of λ-Bernstein operators, J. Inequal. Appl. 2018 (2018), 61.
- [9] Cai, Q.B., Zhou, G. and Li, J., Statistical approximation properties of λ -Bernstein operators based on q-integers, Open Math. 17 (2019), 487-498.
- [10] DeVore, R.A. and Lorentz, G.G., Constructive Approximation, Springer, Berlin Heidelberg, 1993.
- [11] Gadzhiev, A.D., The convergence problem for a sequence of positive linear operators on unbounded sets and theorems analogous to that of P.P. Korovkin, Dokl. Akad. Nauk. 218 (1974), 1001-1004.
- [12] Gal, S.G., Approximation with an arbitrary order by generalized Szász-Mirakyan operators, Studia Univ. Babes-Bolyai Math. 59 (2014), no. 1, 77-81.
- [13] Gupta, V. and Gupta, P., Rate of convergence by by Szász- Mirakyan-Baskakov type operators, İstanbul University Science Faculty The Journal Of Mathematics Physics and Astronomy. 57 (1998), 71-78.
- [14] Gupta, V. and Srivastava, G.S., On convergence of derivatives by Szász-Mirakyan-Baskakov type operators, The Math. Student. 64 (1995), no. 1, 195-205.
- [15] Gupta, V. and Tachev, G., Approximation by Szász-Mirakyan?Baskakov operators, J. Appl. Funct. Anal. 9 (2014), no. 3, 308-319.
- [16] Ispir, N. and Atakut, Ç., Approximation by modified szasz-mirakjan operators on weighted spaces, Proc. Math. Sci. 112 (2002), no. 4, 571-578.
- [17] Korovkin, P.P., On convergence of linear positive operators in the space of continuous functions, Dokl. Akad. Nauk SSSR. 90 (1953), 961-964.
- [18] Kumar, A., Approximation properties of generalized λ -Bernstein-Kantorovich type operators, Rend. Circ. Mat. Palermo (2). **70** (2021), 505-520.
- [19] Mirakjan, G.M. Approximation of continuous functions with the aid of polynomials, In Dokl. Acad. Nauk SSSR. 31 (1941), 201-205.
- [20] Mursaleen, M., Al-Abied, A.A.H. and Salman, M.A., Approximation by Stancu-Chlodowsky type λ-Bernstein operators, J. Appl. Anal. 26 (2020), no. 1, 97-110.

- [21] Mursaleen, M., Al-Abied, A.A.H. and Salman, M.A., Chlodowsky type (λ, q) -Bernstein-Stancu operators, Azerb. J. Math. **10** (2020), no. 1, 75-101.
- [22] Ozger, F., Applications of Generalized Weighted Statistical Convergence to Approximation Theorems for Functions of One and Two Variables, Numer. Funct. Anal. Optim. 41 (2020), no. 16, 1990-2006.
- [23] Ozger, F., Weighted statistical approximation properties of univariate and bivariate λ -Kantorovich operators, Filomat. **33** (2019), 3473-3486.
- [24] Özger, F., On new Bézier bases with Schurer polynomials and corresponding results in approximation theory, Commun. Fac. Sci. Univ. Ank. Ser. A1 Math. Stat. 69 (2020), 376-393.
- [25] Özger, F., Demirci, K. and Yıldız, S., Approximation by Kantorovich variant of λ -Schurer operators and related numerical results, In: Topics in Contemporary Mathematical Analysis and Applications, pp. 77-94. CRC Press, Boca Raton, 2020.
- [26] Prasad, G., Agrawal, P.N. and Kasana, H.S., Approximation of functions on [0,∞) by a new sequence of modified Szász operators, Math. Forum. 6 (1983), no. 2, 1-11.
- [27] Qi, Q., Guo, D. and Yang, G., Approximation Properties of λ-Szász-Mirakian Operators, Int. J. Eng. Res. 12 (2019), no. 5, 662-669.
- [28] Rahman, S., Mursaleen, M. and Acu, A.M., Approximation properties of λ-Bernstein-Kantorovich operators with shifted knots, Math. Meth. Appl. Sci. 42 (2019), 4042-4053.
- [29] Srivastava, H.M., Ansari, K.J., Özger, F. and Ödemiş Özger, Z., A link between approximation theory and summability methods via four-dimensional infinite matrices, Mathematics, 9 (2021), no. 16, 1895.
- [30] Srivastava, H.M., Ozger, F. and Mohiuddine, S.A., Construction of Stancutype Bernstein operators based on Bézier bases with shape parameter λ , Symmetry. **11** (2019), 316.
- [31] Szász, O., Generalization of the Bernstein polynomials to the infinite interval, J. Res. Nat. Bur. Stand. 45 (1950), 239-245.
- [32] Totik, V., Uniform approximation by Szász-Mirakian operators, Acta Math. Acad. Sci. Hungar. 41 (1983), 291-307.
- [33] Zhou, D.X., Weighted approximation by Szász-mirakjan operators, J. Approx. Theory. 76 (1994), no. 3, 393-402.

Reşat Aslan